: 1) & ST a8 4 <)13-105=H,
T T _fy=qay., A h

ST S Wsat ), e

B TR T R O ) 5 S

e e

e— D 989 =(M-nt jpd=nd ‘

e R Y —

T Hup aswgepepey — P
. f-—-—\\j’\\% _,,_——-—’/"—_\
N DY P\ TS
T T D 9452 s (w4, I
— T %) SM8~ 15 = (Y y.
e | 9 83=(n1)Y. ——
e— I = &9 =N
—_— | N=5q4 1 <6p.

iJ' .
T '5)1! Hue Gamen, _ AP¢ oy -

! B bS, bk veese
T % Mﬂl 3 / lDl \4) """ ‘U’)

. 1# fﬁm APG) 4 e Wowve o
— Hee \ot toum , o= 63
|

e | L EE

i et e
———

I | Sy = 634 W2 =ande ),

|
\
| \\N

|
|

— " e—~
t ————
e ———

— T E »-
—

. S—CTY |
MY =g 4, T —

2 bh =652 n=19.




o w Q=16 -

//,__.k__’)._a_ﬂ?z:‘)fl_i‘_‘l : \%;__ .
T vatadsle I
- 2 Aud @y -Qs =12 o
T o [t -[ad) =0 -

satbd-a-ud:=i . o
- 2 34:=11 5
N Sd=h.
] S at =l
- 2 .+ 8\b)- b
i Da+\Q -\,

2a=1b-13 =Y.
&) =a-Yy.

Qr=044d = ad4d =Ytf-10.

a%:Q'J—""d = o =\b

Q= Qpyd = Lb+b-3a-

L"r)‘" A =483

ol=3Y3-353=-5.

e Yeo= A4 (n-1)d = 263 +(30-1) (-2

[l
I = at3 Y Yx €s5) =159 .

Hewde, , tue pobw  bosuy ' krow  the Lk




